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.~Prove‘that subgroup of an abehan gxoup ishormal.
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SEC’I'ION A — (5 x 5= 25:marks)

Answer any FIVE of the followmg questlons
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Iffor a group G Let [ G = G-is glven by f(x) x V xeG isa homomorphlsm ‘ i
«prove that G is abelian. s
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Prove thata: homomorphxsm f of a group G on to a group G wzth kernel K is: an‘i o




SEGTION B (5 x 10 50 marks)

Answer ALL t;he questlons

z‘Fmd the order of each elemenl; of the" group G {0 l 2 3 4, 5} under
,,-addmon modulo 6 :
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) - Show that'a non-empty complex H of agroup G'is a subgroup of G 1f and only =7 7 7
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: (b) State and prove the Lagrange s theorem for finité ¢ gxoups | |
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a) A subgroup H of group G is noxmal subgroup of G 1&' each left coset of Hin G
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Prove that: G =¥




